1. Use property 2 to simply the following radical expression.
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2a. Use the properties for radicals to simplify the following expressions. Assume that all variables represent positive real numbers.
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2b.
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7a.
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7b. 
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7c. 
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11. A homeowner wishes to insulate her attic with fiberglass and insulation to conserve energy. The insulation comes in 40cm wide rolls that are cut to fit between the rafters in the attic. If the roof is 7m from peak to eave and the attic space is 3m high at the peak, how long does each of the pieces of insulation need to be? Round to the nearest tenth. 
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12.Find the distance between the pair of points.
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15. Simplify the radical expression.
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16. Find length x in the triangle. Express the answer in simplified radical form.
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17. Solve the equation for x.

[image: image29.emf]
18. Solve the equation for x.
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3. Solve the equation for x.
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25a,b,c &d. Match the following graphs with the correct equation then describe the resulting graphs by identifying the vertex point, the graph’s direction, and any axis intercepts gleaned from the table or graph.
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26 a, b.. Identify the axis of symmetry, create a suitable table of values and sketch the graph (including the axis of symmetry) and describe the resulting graphs by identifying the vertex point, the graph’s direction, and any axis intercepts gleaned from the table or graph.
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27.

Find the x-intercept.
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2a.

Solve the following applications. Give the answer to the nearest thousandth.
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2.A 80m ball is thrown upward from the roof of a building 100m tall with an initial velocity of 20 m/s. When will the ball reach a height of 80m (remember the constant is always equal to the initial height of the ball.
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